Questions and Answers for Clarification Requests

Questions

Answers
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This moot court problem did not take into
account the facts that are relevant to your

question.

(1) Morany’s measure (B): “run by investors
from Agovia® F&0IA Agovia FAHAHEO|
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(2) How is ‘run by’ (Measure (B)) defined? Is
it ownership or control, or some other act or
status?

(1): Agovia's investors run these shops

through their commercial presence in

Morany (and not from abroad).

(2): The Agovian investors are (co-)owners of

the textiles/clothing shops in question.

(1) What does [...] mean in the Schedule of
Specific Commitments? Does it mean that the
content was abbreviated, or does it mean that
it was left as a blank?

(2) schedule of specific commitmentsOf| A ...
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entries (contents) for these parts, but they

Morany’s schedule has actual

were omitted/deleted for the purposes of

this moot court problem.

Is Morany justifying its measures under other
subparagraphs of Article XX(for example,
Article XX(f), (9))?

No.

On Morany’s measure(E), did Morany also
stop giving “advice” to Agovia?

Yes (i.e., advising was terminated too).

Agreements on Textiles and Clothing (ATC)E
A8l E|=X|? — for measures (A) and

(B)

Formally, the ATC is not mentioned in the

consultation and panel requests.

TRIMs : Trade Related Investment Measures
£ M8k E=X|?

Formally, the TRIMs Agreement is not
mentioned in the consultation and panel

requests.

International Humanitarian Law = QI2&
&fj OFSt=7+?

No

humanitarian law (unless you feel that doing

need for quoting international

so is relevant and helpful for formulating

your position).
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As a principle, you should focus on the

alleged violations and the provisions

mentioned in this problem.
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10 | What was the Security Council's reaction to | This problem did not take into account the
and decisions regarding the armed conflict )
between Viktima and Agovia? facts that are relevant to your question.

11 | What is the percentage of ethnic | This problem did not take into account the
Viktimans/Agovians in Morany to Morany's )
total population? facts that are relevant to your question.

12 | Are Morany and Agovia members of the | This problem did not take into account the
Wassenaar Arrangement? .

facts that are relevant to your question.

13 | In measure (B), does the phrase 'run by Agovia's investors run these shops through
investors' mean that Agovian investors ) ) )
actually participated in the business their commercial presence in Morany to
admlr)|strat|on of the shpps as service . supply services in Morany. They are
suppliers, or that they simply contributed via ) ) )
capital investment? (co-)owners of the textiles/clothing shops in

question.

14 | Are measures A through E temporary or Whether temporary or permanent, all
permanent? ) o )

measures at issue remain in force during
these WTO proceedings as the armed
conflict in Northern Viktima is still going on.

15 | Does ‘renewable energy in the 2007 This problem did not take into account the
Morany—Agovia Inter-Governmental )
Agreement on Bilateral Cooperation on facts that are relevant to your question.
Technical Barriers to Trade include nuclear
energy?

16 | Is Viktima a beneficiary under Morany's This problem did not take into account the
GSP? If so, what is the structure of Viktima's )
economy (main sectors of production, etc.) facts that are relevant to your question.
and in what sectors do Viktima and Morany
engage in trade?

17 | What percentage of Agovia's import of dual- | This problem did not take into account the
use goods comes from Morany? .

facts that are relevant to your question.

18 | Was the failure to reach a _ This problem did not take into account the
mutually acceptable solution under the initial )
consultations exclusively attributable to facts that are relevant to your question.
either Agoiva or Morany?

19 | 2X0l GATT Art. 11, GATS Art. 16, ... Please focus on the provisions listed in this
S22 Z¥S0| 0|0 FO{H A=0| problem.
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21 | Measure E ##35{A Morany 7} 2022 A This problem did not take into account the
128 12 Y O|F™7HX| Agovia O|2[2| CtE facts that are relevant to your question.
T7HAE 7|& ’EE siE A0l
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22 | 2Hof AZE[O UX| 42 FHE M2E | Please focus on the factual background
QAE OCIK| FHHAM X 20| explained in this problem and clarified in
SI8E|LtR? this table (including an additional fact on the

export control measure (C) in the answer to
question 28 below).

23 | =M MA[E =g 0|2l2] GATT =& 9| | Please focus on the provisions listed in this
g of 52 2 €8 98 §F = HE | problem.
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24 | 4™ ZHYA| FXE HEEA| measure A-B- | How to sequence the issues is within your
C-D-EQ| &=MOiE MWNOf St= ZQIX| EHZ | discretion in principle.
=410

25 | HALZ|E EEsto] MHEEE XHFEO| O|F0{ | The assessment will consider both: your
X=X, ot ™H 7t =2|FZ7X| XHF | arguments for each issue and the overall
O El=X| IaLLIC design of your submission.

26 | How is Morany’s national treatment of National treatment is not included in this
domestic textiles/clothing? Also, how is
Morany’s national treatment of dual-use problem.
goods in domestic market?

27 | Measure (C) mentions “the tightening of the | pjaase see the explanation of measure C on
existing export control”. Does this mean that )
the measure C falls into the ‘export control’ in | P- 3 and footnote 3 of this problem and an
the GATT Article 117 Or is it ‘export additional fact for question 28 below, and
restriction’ in the GATT Atrticle 117 . . .

address the Article Xl issue accordingly.

28 | Due to measure (C), did Morany’s exportof | Ap additional fact (to be read together
dual-use goods to Agovia actually : i :
decreased? If so, exactly how much has it with footnote 3 in this moot court
decreased? problem):

Due to measure (C), Morany's export of the
dual-use goods to Agovia has decreased by
around 50%.

29 | Does Morany also restrict the export of dual- | The existing export control measures were
use goods to other countries? ) ) ) )

tightened (i.e. made stricter) for Agovia only.

30 | !sthe measure (C) based on Morany’s It is based on Morany's domestic rules
national law? Or is it just administrative .
action? (national law).

31 | Were there any other developing countries This problem did not take into account the

removed from Morany’s GSP in the same
period when Morany removed Agovia from
the GSP? If so, how is the economic status
of that country compared to Agovia?

facts that are relevant to your question.
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Does the measure(b) include restriction
regarding the specific type of legal entity(e.g.
joint venture between Moranian-Agovian
investors, majority of shareholder being
Moranian)? Was the prohibition done
differently according to the proportion of
foreign investment? In other words, was
Shops those were wholly-owned by Agovians
were closed or any shops that shared
interest with agovians were supposed to be
closed?

All retail textiles/clothing shops in Morany,
wholly and jointly owned by the Agovian
investors, were closed.




